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THE SUM OF ‘THE CURRENTS IN THE
- TWO BRANCH PATHS EQUALS THE |
CU&REMT BEFORE IT DiVIDES. ’

an

1. In the circuit shown below, there isa voltage drop of
6 V across each 2*-(2 reswtor.

a. ByOhm’s Iaw, the current in each N
resistoris - A -

\ . }‘b The cuntent through the battery is
~ thesumof the currents in the
A

 resistors,

’\ fc. Fillin the current in the eight blank
~ spaces in the view of the same
czrcuzt shown agam at the nght

j3 Cons erthe arallel cm:mt at the nght
. a Th ,itag drop across each resistor is

THE EQUIVALENT
RESISTANCE OF A
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